PART B

3. Simplify each of the following. State any restrictions.

5x + 10 3 .
a. ——— X 2x + 8
20 b. &= T

x? — 4x (x ~ 1)2 _
e. = =17 4x — 8
.X"+4X f' 5x—5 g' 4*2X

4. Simplify each of the following. State any restrictions.

x+2 9 — 42
& vy b. =%
] 2
I [ 2
= léx €. - 2x + 1
X2 +3x =10 3x2 — 6x
9 X =3x+2 h.

X3 — 4x2 + 4x

5. Simplify each of the following. State any restrictions.

23 — Hx + 20

a =L Ty X2+ X+ 12x
Ix = 9x ~ 30 b. T T
d X5 +4 e, W _dx-15
rox-r A+l + 15
TR
PART B | - e
3. Simplify each of the following. State any restrictions.
Sx + 10 3x 2x + 8
a- 0 b. &1 © LTz
x* — 4x (x — 1) 4x — 8
& T4 f. 5x =5 S

’

4. Simplify each of the following

; x+ 2
} a. -4 b
4x2 4+ 16x
d. T Tex e.
x2+ 3x — 10
. L g ) h.

5. Simplify each of the following
2x2 — 14x + 20 b
3x2—9x — 30 :

d. X = 5x2 4 4

x2—x=2

a.

e.

. State any restrictions.
9 —x*
x—3
x2 =1
=2+ 1
3x2 — 6x
x> — 4x? + 4x

. State any restrictions.
X+ 73+ 12x
3xt - 27x%

4x2 — 4x — 15
4x? + 16x + 15

x+ 3
d. P

3
X' +x
h. 3Ty
X

4x — §
22— 8
2-s5xt6
2x — 6

4x* — 9
16 — 942

3 —x—4

o

2x* + 9% + 9
4x2 — 9
16 — 9x2

3Ix2—x—4
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e. x= -2 f. x=<1

5. 0. x=2 b. =5

6. a. 2<x<6 b. x<Qorx>?2

— o —no—
0 2 6 .0 2

[ 2=x=3 d. no values
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-

+
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x=—-4orx=4

o—1—o-
-1 0 -4 0 4
7.u.x>3orx<—2b.—75xs—48.—39.—”3—4<x<1

3
or.x > 3

Exercise 2.4

Laxx+ Hb2x—dHeba—od giw+2)

eemi(m* + Dla(y— Dy + Db (m — 4m+ 4)
C2-a2+ad (xv =30y +3)e (5 — 25+ 2
a(x—Dx-Dhiy+H+ Deax—6)x+ 1)

d. (1 + 41 + 3) 4. 0. 3a(36* — 4) b. ab(5a + b)

¢ 2ab(2a*H3 — 3ab + D d. wr(r + h) e (2x — Dix + 2)
foxte +3)5 00 + I = b (10 = y)(10 + y)

(9 = 29)O0x + 2 d (5 — xy)(5 + xy)e. (x — D)(x + 7)
fo(x +5)3x + D goxtx = Dx + Dh.mR = r}(R + 1)
L2+ )+ y)x—yyboa(x — 2)(x ~9)

b. (x + 14)x - 3. (x + 6)x + Dd. (x — 3)(x — 18)

e (x = 8)x — &) f. (x — 20)(x + 4) g. (x* + 10)(x2 + 5)

ho (x = 3)%x + 3720 (x + Ty)x — y) T a. (3x + 2)(2x — 9)
b. 3x — 2)4x + De. (dx + D)(x + 4) d. (3x — 5)2

e (4 + Dix + D(x — DE6(x - 3)x + 1)

g x(2x — I)(x — h (2x - 3)2x + DN+ Dx=1)

i (8% + Dx + (x = 2)j. (5x + 2)Bx = 7)

ke (7x ~ 5)3x = 2L (22x — I)(x + 2) 8. 4. (x ~ 4)(x% + 3)
b (x = 3)22 = 3 e lx + 2)2x + N2x = )

do 2(x — 32 + e (x + 2(x — (322 — 1)

fo2x(e + 2)x — 2)29. 0. (x — 2)(x — 11) b. 3x(x — 3)

€ (3r+ 7)2x — D d. (5x — 8)x — Ve (x — a2 + &)
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f. (5x — 7)(5x + Ty) g. (2x + 5)(2x + 5) h. S5(x — 3)2
i (4x — D{x + 5)j. 4(5a — 3b)(5a + 3b) k. (2x2 + TR
L 43x2 + 2x + 7) 10. a. 200 b. 200 ¢. 2320 d. 19 999
1 0 xtx + Db x(x — 2)(x2 — 2x + 2)
t.(x—4—2y)(x—4+ g
b. 3

X 23

Exercise 2.5
IR u.x#:()bx¢~7tx#=5d.x$0 —2ex#0, -1

fx=#01—1gt#yhnorestnchononx?ﬂ—t#O /
i

x-a_’)
b x#ytm,x?&O d‘l x#23a
X
b'z‘(x——T Sx# 4d X * +4>
fxglr¢1g~2x9€7h£4u.—,x¢-2
b. 3 -xx#3¢ +2x#=2d A #0, -4
x+1

x# 1R 25 x¢3g. l,x¢2
"';3 r#O,ZSu.z(X 2 s

3+ 2)°

x+3
b-m,xio -3¢ ¢——
dx+Dx—1),x#2, — le.7+5,x*
bt e 260 -3,1,3,7b. -9, - 5,—4,—2,

—1,0,37.a.(=4,0), (=1, —=1),(0, =2}, (1, =5), (3, ),
(4, 4), (5,3), (8, 2) b. (3, 13), (4, 8), (7, 5), (12, 4), (—8, 2),
(=3, 1), (1, =7), (0, =2) . (0, 3), (2, 1), (4, 7), (6, 5)
d.(1,-9),(573)

03 x 70,203 +2),x% ~2,2¢ -2, x % 3, |
1f"2

d"‘zmeo,ze I x# -2, X =220

xx +6)x - 1) = x+1
YR (xAZ)(x+3)(x+3)'X# 2,2, -3h x #0,1

‘l L x # = 7,7,

3x+4 14 _1 o, - 3x - 1
th,.;ez}, 3u. X # 10b.,_1,

2 —4.1c —x¢—4 3 4,54 “—‘*f:xﬁ; x#—-2,0,

2,3 34t xx -+ ), x#0,23b =

1 3 5 2 1
%73 5.0.0h — 1:.57.——2—,—5,1-

—M"‘“ x#1,3

= _S,X?&—I

Exemse2.7 .
6 m
. 2x = L0 R
b. °‘2x+1 x—3

7 3x+2 2 5x- x
L 17_x~ f. 19 A= he S o

3x—16 x~+v—4 x+4 4x2+x—2
o= h dx e T

2 —-x-1 3x2 + 4x _ 1 22 -4x =3
b4 (x+l)(,x+2)b G F D S - - 9
d 6x + 4 e 532 -2 fx‘—r—‘l
T2 —2) k- D2+ 1) (x — 2)2

| 3 -2 22 i
S.a.(X_U(H“b(XJ_,W_z),xa&Oc R :

x+ 8 p
d. G- -hx+D & (X—I)(x—n’x*‘z ol

3y g =g g Hxpox

i *rl+ir—46 10x1-141—20b I+ x -6
x{x — 3)(x + 3) x(x ~H2x - 1) x(x + D(x — 3)

4xt + 15x 3 3x - 14
7. u+1) ey &bk ET T

3 3 2
2 .r+lb°,r+3+.\'—2

Answers



